AERBR—

(B =490 —X )L B

Tm 50cm 1cm
1EE jiBE BIER | AEE | AIEE | RIEE HhE D AKX B8
CE) | CE#) | (CFi)
01/ &5 /IR H27.9.8 | 0.05 0.05 0.06 | ANEHE
01/ BRI/ H27.7.14[ 0.05 0.05 0.06 |&ArEHE
01/ /R H27.8.20[ 0.06 0.06 0.07 |FAFEHE
01/ BE N H27.7.31[ 0.06 0.06 0.07 |FAFEHE
01/]n EiNER H27.8.19] 0.06 0.06 0.06 |#RhEHE
01/Iv SRR (RBE) H27.7.21| 0.06 0.06 006 |F &%
01/1y SEINER (E2EFE) H27.7.21] 0.09 0.09 012 |24
01/ SEEINER H27.83 | 0.06 0.06 0.06 |&RAFEHE
01/ FINININERR H27.7.31| 0.06 0.05 0.05 [# AhEEEE
01/ L FENER H27.9.4 | 0.05 0.05 0.06 |&ArEHE
01/ FEHDER H27.86 | 0.05 0.04 0.06 | AFEHE
01/Iv =/ VR H27.8.19] 0.07 0.06 007 |FRhEE
01/ JIEEINE R H27.8.19] 0.05 0.04 0.04 |FRNEHE
01/ LB/ H27.7.27[ 0.06 0.05 0.06 |&ANEHE
01/ AIBJ /DR H27.8.25] 0.05 0.05 0.06 |Z4 SR
01/ =R/NER H27.7.14] 0.5 0.05 0.05 |#RhEE%
01/ —FIFINER H27.9.3 | 0.05 0.04 0.05 |FANEHE
01/ /Mﬁm/ =T5R H27.86 | 0.05 0.05 0.06 |¥AFEHE
01/ EE[E /\Z % H27.7.21 0.06 0.06 0.06 |&AFEHE
01/ 55 Y NEERL H27.7.28| 0.06 0.06 0.06 |&RAFEHE
01/]h ST INERR H27.8.25] 0.05 0.05 0.06 |#RhEHE
01/ B E /R H27.9.1 | 0.05 0.05 0.05 | AREHE
01/ RGN H27.7.21[ 0.06 0.06 0.06 |&AFEHE
01/ EE IR H27.7.27[ 0.06 0.05 0.07 |FAFEHE
01/ E N H27.8.20] 0.04 0.04 0.05 | AREHE
01/ SENER H27.7.27[ 0.06 0.06 0.07 |FAFEHE
01/ hE B /NER H27.8.19] 0.04 0.04 0.04 |FAFEHE
01/Iv th 2 B/NE H27.8.28] 0.06 0.05 006 [ZH ATZ
01/Iv e /ER H27.7.28| 0.04 0.04 005 |FRhEE
01/1v FEA/NER H27.8.28] 0.05 0.04 005 |FRhEE
01/]h TS N H27.93 | 0.06 0.06 0.06 |#RhEHE
01/ TEDARINER: H27.7.14[ 0.06 0.06 0.08 |#AFEHE
01/ BB/ H27.7.21[ 0.06 0.05 0.06 |¥AFEHE
01/ HEEINER H27.7.22[ 0.07 0.07 0.07 |FAFEHE
01/ RGN R H27.9.4 | 0.05 0.05 0.06 |&AFEHE
01/ EEMNER H27.7.21[ 0.09 0.07 0.09 |Z4 SR
01/ HEE R H27.7.28] 0.07 0.06 0.07 [FAhEE%E
01/ BKTINERR H27.7.13[ 0.06 0.06 0.07 |FAFEHE
01/]n — FINER H27.8.7 | 0.05 0.05 005 |FRhEHE
01/ EABNER H27.8.26 0.05 0.05 0.05 |FAFEHE
01/Iv HE/NZER H27.8.3 | 0.06 0.06 007 |FRhEE
01/ BN H27.9.4 | 0.04 0.04 0.05 | AREHE
01/ AR/ H27.8.20[ 0.05 0.05 0.06 |&AFEHE
01/ AN H27.86 | 0.05 0.05 0.06 | AFEHE
01/ KIT/INER H27.7.13[ 0.05 0.06 0.07 |FAFEHE
01/Iv B E IR H27.8.28] 0.05 0.06 007 |FRhEE
017\ EER IR H27.9.4 | 0.07 0.07 010 |Z4%
o1/l HRE N H27.9.8 | 0.05 0.05 005 [¥REHE
01/ FOENER H27.8.25] 0.06 0.06 0.06 |&AFEHE
01/Iy EE IR H27.9.4 | 0.06 0.05 007 [FRAGE. T4
02th RS H27.8.19] 0.5 0.04 005 |FRhEHE
02k EEhE H27.9.4 | 0.07 0.07 0.08 [# ARG
02th R H27.93 | 004 0.04 0.04 |FRhEHE
02eh — 2 Sthek H27.8.28| 0.06 0.06 0.07 |FAFEHE
02th BB e H27.8.3 | 0.06 0.05 0.06 |[FRHEHE
02th BEhR H27.7.13] 0.5 0.05 0.06 |[FRhEHE
02th SRR H27.7.14] 0.05 0.05 0.06 |[FRhEHE
02th EFHhR H27.8.7 | 0.05 0.05 0.06 |#RhEHE
02th B D= H27.8.28] 0.05 0.05 0.06 [FRHEHE
02th IR EE AR H27.87 | 0.06 0.06 0.07 |#RhEE%E
02th FE ek H27.7.28] 0.06 0.06 0.08 |[FRhEHE
02eh NS R H27.86 | 0.05 0.06 0.06 |&AFEHE
02th B R H27.8.25] 0.05 0.06 0.06 |[FRbEHE
02th =Rt AL H27.7.27] 0.05 0.05 0.05 |[FRbEHE
02th _LE::e; o H27.8.20[ 0.07 0.07 0.07 |#RhEE%E
02th E e R H27.7.21] 0.6 0.06 0.07 |[FRHEEE
02th ENEES N H27.8.25] 0.04 0.05 0.04 |[FRbEHE
02th IE heE ik H27.7.28] 0.06 0.05 0.06 |[FRhEHE
02eh BE Rk H27.7.22[ 0.05 0.05 0.06 |&ArEHE
02th I EE = H27.93 | 0.06 0.06 0.06 |[#RhEHE
02th OIEELR H27.9.3 | 0.05 0.04 0.05 |[FRHEEE
020 A H e H27.8.20] 0.06 0.06 0.06 |#RhEHHE
02 KT AR H27.7.13]  0.06 0.06 0.07 [FAhEgEE
02 EPEETR H27.8.25| 0.04 0.04 0.05 [# AhEEE
03#x 5+ FARALBILER H27.95 | 0.04 0.04 0.05 |FRREHE FRI7ILE
04X % RIFLHHE H27.7.14] 0.04 0.05 0.06 [¥ AhEgsE
04X % LS SHEE H27.7.27] 0.08 0.07 0.09 [# AhEgsE
04X % KT E H27.7.14] 0.05 0.05 0.06 [# AhEgEE
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AERBR—

(B =490 —R)LH/B)

1m 50cm 1cm
i BIER | BIEE | BIEE | AEE thim DK BE
CE#) | (Ft) | CEH)
2 |EBAA/NER H27.7.31| 0.07 0.07 0.08 [# AhEg%E
2R B/ AF /IR H27.9.4 | 0.05 0.05 0.06 |&¥ AR
2R | I[BME/NER H27.8.6 | 0.06 0.07 0.09 | RFEH%E
21 |IBFESEIT /N H27.8.25| 0.06 0.06 0.08 | RhEf%E
| IBERE /N H27.9.4 [ 0.04 0.04 0.05 |35V )—higs
BEEEHAE H27.8.24] 0.08 0.08 0.10 [T Eth
BEAE H27.9.7 | 0.06 0.06 0.08 [ AhEEEELZE
SHAE H27.84 [ 0.07 0.07 012 [FAFGHEE
FNE St N H27.9.11] 0.07 0.06 0.07 [Eth
LWL RE H27.7.13] 0.07 0.08 0.09 |F AR, Eih
R AR H27.8.14] 0.05 0.05 0.06 [¥ AhEgsE
INELE H27.7.16] 0.08 0.08 0.09 |FRREHE, FRI7ILE
(R RVNE H27.7.15] 0.08 0.07 0.08 [# AhEgsE
WY PEAR H27.7.15] 0.08 0.07 0.08 [# AhEasE
FEMAE H27.8.31] 0.09 0.09 011 |Ao8—0OvFx 5%
BANE H27.8.20] 0.05 0.06 0.06 [#AhEEEELZE
BELLSEAE H27.8.4 | 0.07 0.06 0.09 | AR
BE-TEHAHR H27.84 [ 0.09 0.09 011 [Eth & (5—0OvxL )
BERAR H27.8.4 | 0.07 0.06 0.07 |¥ AR
BFEJS)—/\—=4 H27.7.29| 0.09 0.09 012 |Z4. 39—k
BEEAYNE H27.8.4 | 0.06 0.06 0.06 | AR
HmhBZEoNE H27.8.4 | 0.06 0.05 0.07 |¥ AR
BEREAE H27.8.13] 0.06 0.05 006 |[FARGEZE
B AN E H27.8.24| 0.07 0.07 0.10 [ RMEHE. (2 5—0OvX )
BfidhonbKINE H27.9.4 | 0.07 0.07 008 [Eth +
BRI CHENAE H27.7.28| 0.05 0.04 005 |24
SHAE H27.7.29| 0.07 0.06 0.07 [ AhEgEE
Al SN E H27.7.23| 0.08 0.07 0.08 |FRPEGHE (L a2—0OvF sy
SR EEDHAE H27.7.23| 0.07 0.06 0.08 [FRREHE. (23—0OvXH
SH-THEEDLE H27.7.23| 0.10 0.1 0.13 [ AhEas
e E deED H27.7.29| 0.08 0.08 0.09 [HFRMEHE. 7RI7IE
e E EEED H27.7.29| 0.09 0.09 012 [4>8—Ovx 9
LARE H27.8.4 [ 0.04 0.04 0.04 | AR
FIVIAAE H27.7.31] 0.07 0.06 0.08 |#RrEEE aVH1)—F
LHESAE H27.7.16| 0.07 0.07 0.08 [# AhEgsE
LFEAR H27.9.7 | 0.06 0.05 0.06 |&¥ AR
T FEMEAR H27.9.10] 0.07 0.08 010 |Ar4—OvFxF%
LFEFEAR H27.8.11] 0.08 0.07 0.09 [# AhEgsE
EEHAER H27.8.18] 0.05 0.05 0.06 [¥ AhEgEE
XN H27.8.31| 0.04 0.04 005 [FRAMEHE. /2 4—OvX 0%
BHFJENE H27.8.31] 0.08 0.08 0.09 |FRREHE, 7RI7ILE
B8 -_TEXAE H27.8.31] 0.08 0.07 008 |[#FARGEZE
8H)F/\—=H H27.8.31] 0.07 0.07 009 |Ar4—OvxF%E
MbhEEAR H27.8.18] 0.05 0.05 0.05 [# AhEgEEE
LB AE H27.8.4 | 0.07 0.07 0.09 [FAMEEE Z4%
A PR AE H27.8.21] 0.07 0.07 0.08 [HFREGHE. (282—0OvXY
NG H27.7.16| 0.08 0.10 011 |F AR
CHNAE H27.7.22| 0.09 0.09 010 [FRREHE. (2 2—OvX Sy
INEZTEAE H27.8.11] 0.06 0.07 0.07 [#AhEgEEE
INEERR—Y AR GEED H27.9.2 | 0.09 0.09 011 _[AIZE
INERRR—Y B D H27.9.10] 0.06 0.06 0.07 |# AR
INEFENE H27.8.11] 0.06 0.06 008 |A 4—OvFxF%
INEHSHLE H27.8.11] 0.05 0.05 006 |[FARGEZE
i NN ES H27.8.24] 0.08 0.08 011 [FAFGHEE
=FRoE H27.8.3 [ 0.06 0.05 0.07 |# AR
LT E H27.7.16| 0.06 0.07 0.07 [FAhEE%E
EERAR H27.8.26| 0.05 0.05 0.06 [¥ AhEgsE
SERAREGAIED H27.7.24] 0.08 0.07 008 [Z4%
LE R NE (R—/8—18FF.E) H27.7.24] 0.10 0.10 012 [Z4%
E3UNSNESS)) H27.7.24] 0.10 0.10 012 |avh)—b. T4 FRGHE
LEXZTHAE H27.7.27] 0.09 0.08 010 |ayvhy)—b. F RS, Eih
AR/ H27.8.18] 0.05 0.06 0.06 [#RAFEHE.OVHY—F
AN NE H27.8.27| 0.06 0.06 0.06 |FAMEEZE
[N H27.8.5 [ 0.06 0.06 0.07 |¥ RFEHE
BEAE H27.8.11| 0.04 0.04 0.05 |# AR
BELAE H27.9.1 [ 0.04 0.04 004 [FARFGEZE
BEAR H27.8.28| 0.06 0.07 0.07 |¥ AR
BERAER H27.9.1 | 0.06 0.06 0.08 |# RFEf%E
BEEAR H27.8.28| 0.05 0.04 0.04 [F AhEgEsE
BEMTEAR H27.9.1 [ 0.05 0.04 0.05 |# RhEH%E
BEDLMIEAE H27.8.14] 0.08 0.08 0.10 [F RAhEgsELE
E@U/A@ H27.7.15] 0.07 0.07 0.08 [FRMEHE. (23—OvXT
SN H27.85] 0.07 0.08 0.10 [+ Eih FRI7ILLE
%ﬁ%llﬁmaﬁ NE H27.7.24| 0.08 0.08 0.10 [ RAhEgEELE
THELAE H27.7.14] 0.09 0.10 0.14 [F AhEgs
BEE—AE H27.8.13| 0.04 0.04 0.03 [# AhEgsE
BRE=/AE H27.8.31] 0.08 0.08 0.12 [F AhEEs
BREZAE H27.8.14] 0.07 0.06 0.07 [FAhEEEE
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AERR—E

(B4 o0 —R)LH/B)

Tm 50cm 1cm
15H MEE% 4 BIEE | BIEE | BIEE | AEE Hh T 0D 4K BE
CEH) | CEY) | (F19)
06/ EEAE H27.7.17] 0.07 0.07 011 [FR-EE
NE MERET AN H27.7.29] 0.7 0.07 0.08 |[FRhEHE
NE 5839 ABEE H27.8.18 0.06 0.07 008 |t
06/ E =W+tTHAR H27.7.17| 007 0.06 009 |FRHMEEE
06 A E SibdbnE H27.7.17[ 0.06 0.06 0.07 |#RhEHE
NE S AR H27.7.17 0.7 0.06 0.08 |[FRhEHE
NE ol Rk NS H27.7.17[ 0.06 0.06 007 |[FRMEE. (2 2—OvExL Y
06/A & FHAE H27.8.26] 0.06 0.06 007 [FRIMEE
06 AE YERTBAR H27.821] 0.06 0.06 007 |FRMEE.
NE SEtTEAE H27.7.29] 0.7 0.06 007 |[FRIEHE
ANE] PIEEREANE (EWE~FEFIE) H27.8.18[ 0.07 0.06 0.06 [FRI7IF
NE P EEFELNE CFIE~ £ FEHB) H27.8.18[ 0.06 0.07 0.08 [FRI7IF
NE] PIEEFELE(RBFIE~FIE) H27.8.18[ 0.07 0.07 010 [FRI7IF
ANE] P EEEELNE (EFHIBE~FIE) H27.8.17[ 0.05 0.06 0.07 [FRI7IF
NE] PlEEZREARE B~ AEFIE) H27.8.17[ 0.06 0.06 008 [FRI7IIE
s = —
0623E Efg%ﬂiﬁﬁ@ (RELFAB~FIIBAKR |1157517| 006 0.06 007 |7RI7IE
oy

NE o E 2N H27.8.31| 0.5 0.05 005 |FRFGHEZE
/N HENE H27.7.17{ 0.04 0.04 0.04 |FRhEHE
NE] HTE AN H27.7.17[ 0.7 0.06 0.08 [FRI7IE
NE] FEEEHTENE H27.7.24] 0.08 0.08 0.11 [HRPEHE A2 2—OvF T %E
NE [CLCw<TLA/8—=% H27.7.17] 0.10 0.10 011 |Eih, S RMEEE
NE BEFENE H27.8.21| 0.07 0.06 0.08 |#RFEHE
NE] BEHEGHLE/ Y1 H27.8.17[ 0.09 0.10 013 [A>A—Ovyx> Y
[NE] BHELEELE /=2 H27.8.17] 0.09 0.10 0.1 |FRI7IE. OVH)—b
NE] BAHEEELE/N—H3 H27.8.17| 0.08 0.07 0.08 [FRIFIb A2F3—OyXY
NE] BHEEHLE/\—V4 H27.8.17[ 0.08 0.08 012 [A>A—Ov¥ Y
[(NE] FHIEAE H27.8.4 | 0.07 0.07 0.09 |&Ah&EhEE, Bt
068 E BEFEHLEL/EAY—) H27.85 | 0.06 0.06 0.06 [# RAEHELZ
068 E BEaEFEELE/EBY—V) H27.85 | 0.06 0.07 0.09 [FRMEHELZ
068 E BEaEFEHLELE(CY—V) H27.85 | 0.06 0.06 0.08 [#RbEHE. OV —F
NE AEaEFEHLEL/E DY —2) H27.85 | 0.07 0.07 0.08 [av5y—k
063 E BEFEHLE/EEY—Y) H27.85 | 0.07 0.06 0.08 [# RbEHE. OV H—F
068 E BEFEELE/AREY—Y) H27.85 | 0.07 0.07 0.08 [HRAEE IV —+FE
NE BEALUNLLLAE H27.8.31| 0.06 0.05 0.06 |#RhEHE
/NET BmI/NERE H27.85 | 0.06 0.05 0.06 |#RMEHE
[NE] FBAKTSENE H27.7.15] 0.06 0.06 0.06 |#RFEHE
0623 FwAKTHET B AE H27.7.15] 0.08 0.09 0.09 |FRMEHE. QVV—IF
[(NE] FKTTIRFE N E H27.7.15] 0.08 0.08 0.08 |FRFEGHE. (2 A2—0OvF Y
[NE] FXRTE=T BLAE H27.7.15] 0.06 0.06 0.06 |FRFEGHE. (2 2—OvF Y
NE FRTDIEENE H27.7.15[ 0.08 0.08 0.09 [Eth A2 4—OvFXIT%
[(NE] FBARTDIESAE H27.7.15] 0.07 0.07 0.08 |#RhEHE
[NE] FEKITTKIDD N E H27.7.14] 0.09 0.08 0.10 |Eth
[NE] FEKTTE HAE H27.7.15] 0.07 0.08 0.09 |FREGHE. a2 —F
[NE] [EEVNE] H27.8.18| 0.06 0.06 0.07 |FRFEHE
[(NE] [FYO SN H27.8.18| 0.06 0.06 0.07 |#FRhEHE
NE HEMTMT B FERANE H27.7.21| 0.09 0.09 0.11 |FRMEFE. 1> 2—AvFxL T
/NET HI/NE—THRE H27.8.17| 0.06 0.05 0.05 |FRMEHE, 12 2—AvFxLy
/NET BI/NEETHIVE NS H27.87 | 0.06 0.05 0.06 |FXMEHE
/NE HINEZTEHAE H27.8.17| 0.5 0.06 007 |FRFEGHEZE
[(NE] R =L SN H27.8.18| 0.09 0.10 0.10 |Eth
[(NE] HAKTAE H27.7.13| 0.08 0.09 012 |FRGHE. a2V )—F
[(NE] BATHEYLE H27.7.13| 0.05 0.05 0.06 |#RFEHE
[NE] POARLE H27.8.27| 0.05 0.05 0.06 |FRMEHEZE
NE BAIERKAEBY—) H27.8.24| 0.07 0.07 009 A A—Rv¥x H%E
NE BAIERKAE(CY—2) H27.8.24| 0.05 0.05 005 |f A—Av¥x H%E
NE] BAHIERKAE (DY —2) H27.8.24 0.07 0.07 009 [A A—OvX 5%
NE BAHIRKAE (RiFY—) H27.8.24| 0.08 0.08 0.12 |Eth
/NE KEAR H27.8.11| 0.5 0.05 0.06 |ZRMEHE
[(NE] BRIEEAE H27.8.13[ 0.04 0.05 0.04 |FRFEHE
NE] BRIERAE H27.8.14 0.08 0.08 0.08 [avh)—+%
[NE] #HE 2 B H27.83 | 0.07 0.07 0.09 |FRhEHE
[NE] MA=THEELEFLE H27.85 | 0.07 0.07 0.09 |FRFEHE
/NET L EAIPNES H27.8.13| 0.05 0.04 0.05 |FRFEGHEZE
NE] EUEEE H27.9.9 | 0.06 0.06 0.06 [ar5y—k
[(NE] BU—THAR H27.9.10[ 0.05 0.07 0.08 |FREHEZE
/NET BEURAR H27.9.10{ 0.06 0.06 0.07 |FRhEHE
[(NE] UKD AR H27.8.13| 0.08 0.08 0.12 |Eth
[(NE] ARAE H27.8.21| 0.06 0.06 0.07 |#RF&HE
[(NE] AHEZNE H27.8.21| 0.06 0.06 0.07 |FRFEHE
[NE] BN E H27.8.31| 0.05 0.04 0.05 |FREGHE. aVH)—F
[(NE] HEYNE] H27.85 | 0.07 0.08 0.09 | b, Bt
[(NE] FAELAE H27.7.29| 0.06 0.06 0.07 |#FRFEHE
[(NE] KTERIEAE H27.7.15] 0.06 0.06 0.07 |FRh&HE
NE KLFRAE(AY—) H27.7.16| 0.05 0.06 0.06 |#RMEHE
NE KELHFRAEBY—V) H27.7.16| 0.06 0.06 0.06 |#RMEHE
0623 KLHRAEDY—V) H27.7.16| 0.06 0.06 0.06 |FRHEHE
NE KL RAE(ET—2) H27.7.16[ 0.05 0.06 0.06 [FRI7IE
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AERR—R

(B =403 —X )L B

im 50cm 1cm
R MEER 4 AIER | AEE | REE | BEE HhE DK RE
CE¥) | (F1y) | (FH)

e K RAE (FJ—) H27.7.16] 0.07 0.07 007 [¥ AL
0673 E KR AB(GT—) H27.7.16] 0.07 0.08 0.09 [¥RMEHEE
0673 B KR AER=—) H27.7.16] 0.06 0.06 007 [¥RMEHEE
063 B EEEhRAE H27.97 | 005 0.05 006 |XR-EHEE
06AE N H27.84 | 0.07 0.08 012 |FZMEHE
065 B EREE AR H27.8.4 | 0.06 0.06 008 | %
06 AE BAKTITO=AE H27.7.15] 0.05 0.04 004 [F R
06 AE BKTHOELAE H27.7.14] 0.07 0.07 007 [FRMEHE
06 AE HELAE H27.7.14] 0.07 0.07 009 [F R
06/A B AR H27.7.29] 0.06 0.06 006 [FRIMEE
NE HEAE H27.8.11] 0.06 0.07 009 [FRIMEE
06/ & B5RENE H27.7.15] 0.07 0.07 010 [FRIMEE
0623 EOARAE H27.8.27| 0.07 0.06 009 |FRIMEEE
062 B O ADFEAE H27.8.26| 0.05 0.05 006 [3>YU—b, FREHE
0673 B moOAMT BAE H27.8.26] 0.06 0.07 007 [FRMEHE. Eih
N Y NEN H27.7.23] 0.08 0.07 009 [FRIMEHLE. Eifh
0/ EE R |5 R e R H27.7.29] 0.10 0.10 012 |FRMEE
0T EZBE [hbZ o RE kR H27.8.31] 0.07 0.07 008 |FRMHE, 09—k
07 REWE |[EF=T B RE#E H27.8.24] 0.06 0.06 006 [¥RMEHLE
o7 REHE |[EFE=THRRE R H27.8.24] 0.06 0.05 005 [FRMEHLE
0/ REEE |EFEtT B E= %R H27.8.24] 0.08 0.07 010 [FRMEHLE
07 EEEE |EFtT B REEE H27.8.24] 0.08 0.07 009 |[FRMEHESE
o7 REE |[FEF/\THRE#E H27.821] 0.07 0.08 010 [FRMEHE
7R ERE |5 mEADLE H27.8.24| 0.9 0.09 013 [Eth
0 RERE & RE kR H27.8.24] 0.07 0.08 011 |FRMEHE
EEEIEE TR H27.7.15] 0.07 0.06 006 [F RS
0T EERE [RFL, L REEE H27.7.14] 0.06 0.06 006 [FRMEHE
0T RE &R [NEEREEE H27.7.28] 0.08 0.09 0.12 |FRMEHE
0717 & i B 1 /5 & e H27.8.21| 0.04 0.04 004 | ZMEHE
07 REEE [ AbREEE H27.7.17] 0.07 0.07 009 [FRIMEE
07 REMEE | A5 R EEE H27.7.15] 0.07 0.07 007 [FRMEHE. 1)L
07 BB R | KV R E &R H27.8.14| 007 0.07 008 |XR-EH%E
(07 RE#E | xm R E kR H27.7.23] 0.11 0.12 016 |FRMEHE
VREE |RF—T B RS i#E H27.8.4 | 0.06 0.06 007 [F R
0/ REEE [RE=TH R & kE H27.8.4 | 0.08 0.10 014 [FRMEHE
07 R & i E SRR O R &5 E H27.7.23| 0.11 0.11 013 [FRMEHLE, Eih
(07 B &R [Shh<=REEE H27.7.23| 0.07 0.07 0.08 [ RMEHEE
07 RE BE [hFE LY RS R H27.7.29] 0.07 0.07 009 [F R
0/ B E R [EE it R kR H27.7.29] 0.09 0.08 010 [FRMEHLE
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10R7 HERLEHS D EREkE H27.9.9 ] o0.11 0.11 0.15 |FANRE. 4%
10R7 BEMEHEZHMEE H27.9.8 | 0.11 0.11 013 [Z4&
10RR BEMLERET —_AO—~ H27.99 | 0.14 0.15 018 [MAUYATIZ
10R7R RUEVEERFERE H27.9.9 | 0.06 0.06 0.06 |Z4 HREHE
10R7R BB EYIER—ILIE H27.9.9 | 0.05 0.05 006 [Z4 AREHE
10R7 RUEVEFKBAR H27.9.9 | 0.06 0.06 0.07 [Z4. AR E%E
10R7R BBV EHFKIEBE H27.9.9 | 0.06 0.06 007 |4 FREE
10R 7~ RUELVERKECH H27.9.9 ] 0.06 0.06 0.07 [Z4 . FREE
10R7 RUELVERKEDE H27.9.9 ] 0.06 0.06 0.08 [Z4. A&
10X BUEI VR ILIG H27.9.11] 0.08 0.07 0.09 |5 ANEE
10R7~ RUE TS H27.9.11| 0.06 0.06 0.07 [Z4.  FXEE
10R 7R MO ARIBEIE IS H27.9.11] 0.07 0.07 0.08 [# AhEasE
10R7R D AERRIEAT H27.9.11| 0.06 0.06 007 [Z4% AR-EHE
10R7R D AERKIZBE H27.9.11| 0.06 0.06 007 |Z4 FREHE
10R7~ MO AEHEKIBECH H27.9.11] 0.06 0.06 0.07 [Z4. A A&
10R7R D AREEEKIEDE H27.9.11| 0.06 0.05 0.07 [Z4% AREHE
10R7R DO AERKIEER H27.9.11| 0.06 0.06 007 [Z4% AR-EHE
10R7R D AREREKIEFE H27.9.11| 0.06 0.06 007 |Z4 FRHE
NEREC | Bt _Z=ZHHE H27.7.21| 0.08 0.07 009 |% xh%ﬁ“*
HRAEC | SMAEYHHE H27.7.31[ 0.06 0.05 0.06 [#RbEH%E
HERFEC  |[FEEIHHE H27.8.7 | 0.06 0.06 0.07 [HRbEE%E
11F5%) Sl YEEHEE H27.7.31| 0.03 0.03 0.04 [#RFEEE. 02—
11F5%) EfiBE SN #E H27.8.6 | 0.05 0.06 0.07 [# RAhEH%E
11F5%) LR H27.8.24| 0.06 0.05 007 |FRMEESE
11Fh%h TR H27.9.10| 0.06 0.05 0.06 |HRFEHESE
115h%h BIISHE H27.7.22] 0.06 0.06 0.07 [#Rh&H%E
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= jiBE BIEE | BIEE | BIEE | AEE Hh T 0D 4K BE
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T EENER H27.9.8 | 0.05 0.05 0.06 |[#RPEHHE
EERT BB R H27.7.13[ 0.07 0.08 0.09 |FRrEHE
R ERYHEE H27.821[ 0.8 0.07 0.07 |#RhEEH
RER BARBE —4H#E H27.9.3 | 0.04 0.04 0.06 |5 RAh&H%E
11FL % BA AR £h #E & H27.8.25] 0.08 0.08 0.09 |FRFEHE
RERG L USHEE H27.8.25] 0.04 0.04 0.04 |FRhEHE
KER MR H27.9.2 | 007 0.07 008 [BhK= vk
1208 HBEZTLKTREER H27.9.8 | 0.04 0.04 0.04 |FAFEHE
1250 R EEEIEEE H27.8.19] 0.07 0.06 0.07 [# RhEH%E
120 R EELLERE H27.8.19] 0.06 0.06 0.06 |FRbEE. k< vb
12718 SHLBREE H27.86 | 0.06 0.06 0.07 |[FRbEEE. JVP—F
12718 HEEREEE H27.7.31[ 0.07 0.07 0.10 [BAK=Yk
1258 REREENE H27.7.31] 0.09 0.09 0.09 |[#RhEHE
12FM R EMEE H27.8.28] 0.06 0.07 007 [
1250 R MOLNEDFREE H27.8.20] 0.04 0.04 0.04 |FRbEE. FhKkTVE
1270 R M OLMETREE H27.9.4 | 0.06 0.07 011 |FRI7ILE
1208 SHEACYREE H27.9.8 | 0.05 0.05 005 [JyRTv¥
1208 SHUVEDYREE H27.7.21[ 0.8 0.07 008 |42 8—0vyx s
1250 R SE{EEE H27.7.22[ 0.09 0.10 0.11 [|Z4 FhKIvb
1250 1R SEEEE>E H27.7.22| 0.05 0.04 004 |24
12FM 8 GERSE H27.8.3 | 007 0.07 0.09 |[FRbEHE
1250 R M CED2REE H27.9.2 ] 0.07 0.06 0.07 |#RrEEE a2H1)—F
1250 R eEGRERE H27.8.28| 0.06 0.06 0.07 |#AbEE%E
1270 {7 EFVYE-CRER H27.8.28[ 0.07 0.07 0.09 [fEk=vbk. avP—F
12FM R THEERE H27.7.30] 0.08 0.07 009 |[A2A—ayEL Y
1250 R =FS5HREE H27.7.27| 0.04 0.04 0.05 | AR
1250 R CEENHREE H27.7.13] 0.06 0.06 0.07 [# RAbEH%E
12FM 8 _UDLRER H27.8.26 0.05 0.06 0.06 | RAFEHE
12FM R Az EEE H27.7.13] 0.06 0.07 010 [HFRMEE. VY%
12FM R O FEREM H27.8.28] 0.08 0.08 010 [Fhk=vk
12FM R LEIEEE H27.7.28[ 0.07 0.07 0.07 |FAFEHE
127 R BEANFRER H27.9.1 | 0.06 0.07 0.08 |#AFEHE
120 R BERER H27.91 | 0.06 0.06 0.08 |[FRhEHE
1250 R THhEBE H27.7.13| 0.06 0.07 009 [avHy—t
1208 ABDFEFHRREER H27.8.19] 0.5 0.05 0.05 [av%—Fk
120 R -hECREE H27.9.2 | 0.06 0.06 0.06 |4 RAhEH%E
12508 EERER H27.7.13[ 0.06 0.07 008 [JvyRTv¥
12FM R EEREEOE H27.7.13] 0.09 0.11 0.16 [Fik<vb
125 R BEREEE H27.7.28] 0.06 0.06 006 |[12A—BAyEXL Y, DyETvF
IR BALELREE H27.9.8 | 0.03 0.03 0.03 |[FRANEGHE T4
1250 R RIAAZUVDOLRBEE H27.8.19[ 0.07 0.06 0.08 |FRMEE. Bhik<vh
1236 R RPIIREE H27.7.27] 0.06 0.06 007 |[FRhEHE
1270 {2 UMY EE H27.7.28| 0.06 0.06 0.07 |#RhEE%
120 R HOHEGRER H27.8.3 | 0.08 0.08 0.10 [# Rhh%E
1208 VEDYREER H27.83 | 0.06 0.05 0.06 |#RhEE%E
12FM R KTBREE H27.98 | 0.06 0.07 008 [t
1250 R EOARGAHELEEER H27.8.25] 0.06 0.06 007 |Eih +
12712 ZHREE H27.9.4 | 0.06 0.06 0.07 |[FRbEHE
1328 RIFZERFIST H27.7.14[ 0.07 0.06 0.06 |[#ArEEE a2H1)—F
13595 EMFE/NEFEREIST H27.93 | 0.05 0.05 0.05 |#RhEE%
1332% SEZERB VST H27.7.21] 0.07 0.07 0.06 |[FRI7ILFEE
13%E ERFEREVTD H27.7.21] 0.08 0.07 010 |[#RhEHE
1328 F_HIMAREREFIST H27.7.31[ 0.05 0.05 0.07 [avHy—F
135 DIFESFERFIST H27.7.21[ 0.8 0.07 008 |[FRhEE V) )—+E
13%E UNZEEREIZTT H27.7.28] 0.10 0.09 011 |[ZH S RMEHE
13%E VEDYFEREIZT H27.8.3 | 0.09 0.10 0.13 [Bhik= vk
13%% AEF-EZASEEEEREIST H27.9.1 | 0.05 0.06 0.08 |4 RAhEh%E
13F & BERNE—BE)FEREITT H27.9.2 | 0.06 0.06 0.08 |#RhEE%
1385 BY-DHFEREYVTT H27.86 | 0.07 0.07 0.08 |#RhEE%E
14585HR | FAXVRXZFHREE H27.8.7 | 0.05 0.05 005 |[A2A—AyXL Y
143257 |[-HDOZREE H27.9.4 | 0.05 0.05 0.08 [# AhEasE
14585 |H<HF—H— H27.8.7 | 0.06 0.06 005 |[FRIFIE AVE—OvFLH
145851 | D<HEER H27.87 | 0.06 0.06 0.07 [FRb&HE
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